PROPOSTA DE RESOLUCAO

TESTE 2
Grupo I - 1C;2B;3B;4A;5D
Grupo 11

-1 -8 _1 -2 _1
6.a)p—12 b)p_8><7_7 C)p_3><2_3

d) 1 (quaisquer 3 pontos definem sempre um triangulo)

7. p(AUB)=p(A)+p(B)-p(AnB) <

3pT(B):@+ p(B)-p(AnB) <=

p(ANB)= @jt p(B) _3p_§B) < logo A e B séo incompativeis.
p(AnB)=0
p(BNA) _02

p(A) 03
P(AUB) = p(A)+p(B)- p(AnB) < p(ANB)=0,7+0,5-0,9=0,3 entdo p(ANB)=0,2

8. p(B| A) = porque

a) p(M NC)=0,4x%0,2

= _P(HNC) 042 21
) PRIC)= p(C) 0,74 37

porque p(C) = 0,6 X 0,7 + 0,4 x 0,8 = 0,74

10.a) p(AnB)>0logo p(A)+p(B) > p(AuUB)

b)
1. P(ANB)-p(A) _, . P(AUB)-(-p(A)) _
p(B) P(B)
_1,1=P(AUB) -1+ p(A) _,  —P(A)—-p(B)+ p(ANB)+ p(A) _
p(B) p(B)

p(B) p(B) p(B)



